ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Glazed FG Nonimp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5160-61.dwg

THERMARTRU

DOORS

Classic-Craft.

GLAZED FIBERGLASS SINGLE DOOR
w/ DIRECT SET SIDELITE(S)

INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment o
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind-borne debris protection this product is required to
be protected with an impact resistant covering that complies with Section R301.2.1.2
of the IRC and Section 1609.1.2 of the IBC.

Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject fo further engineering analysis.
TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 6 Vertical Cross Sections
2 Door Panel Details 7 Frame Anchoring
3 Sidelite Panel Details 8 Hardware Details
4 Elevations 9 Glazing Details
5 Horizontal Cross Sections 10 Bill of Materials & Components

104123

~—71.75" MAX O.A. FRAME WIDTH ——=
15.5" MAX. _ B775'MAX __
FRAME WIDTH FRAME WIDTH
J J
<E
cP
5 | © O
s
3 &
J J
1.5"
(TYP.)
2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION | REINFORCEMENT w/ FJ PINE JAMBS w/ COMPOSITE JAMBS
REQUIRED ™5 SSITIVE | NEGATIVE | POSITIVE | NEGATIVE
NO +40.0 -45.0 +40.0 -45.0
XO, OX, OXO
YES +40.0 -45.0 +40.0 -45.0

uf
o
S¢ 0
20 4
Ev— i 1l
£ 2 u
5 . .8 z
0 u Om (L]
O S
b )
:g b
8 0@ 3
o oo 5
€ =R =
) g 0
J>p 0
7] )
o T
Z0m o
5, an., &
o ONd o
T %32 L
e amo (]
8 =Zg8 0
o 50¢ 5
'y m oo S
o m
L ol
c §
]
3 L
0
=]

CERTIFICATE OF REGISTRATION # F—11852

)
L
=
A
i’ gq
o <
50 N
ra Z
= o=
Loy Joo =t
L0 |5 <©
gl [ e
D 1=
L &l o
e 1o 78]
"'63" 0 gl
I A e
3 S| & &
o - gy
2 ¥ &
o o
>—
n
)
=z
O
v
ol
o
tut
<
(o
o
4
DATE: 1/06/21
Scae:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:

TX-5160

sHEer 1 oF 10

© 2021 R.W. Buit pING CONSULTANTS INC.



TON| SINVLAASNOD aNIaTng "My 1202 @

ZG8Li—d4 # NOUVMISIONY 40 ILVOLILNID SNOISIAZY ;
SHIINIONT TYNOISSI40Md 40 Quvog SvXal STVLIA TINVd ¥00d Ad 4lvd [ON p~ slzlol o w_
L6L6'6G9°CL8 YON suoyd : NS )y
GEGEE "4 OSMIDA 0FZ Xog ‘O'd \Su@. ‘A HNISSY 30 1Hvd 3 W g v °
*ONI "SINVLINSNOOD ONIGling 4000 SSYI9N3Gl4 N s = v_A 2_
= ©
£ZLYOLF T'd SvVXAL NAL—YNAIHL i m - W £ " &
‘TI'd ‘IWPHUYOS "4 uopuf :Ag pedodesd sjuswinsog :10N300Md 318 W m w 5
o
O
i z
£ — 60 — 8
(®]
Ty
[ 72}
' g
= W Nn»
R e ﬁ 3
ot~ i N skl C
227 \ 2
2 O L w
eL & & >
O & 3 <
= & < o g G
< Z e s 3
m & v OO0
= m n F..lb\
g <8 i 2
o @] w
« iz
ﬁ (1117,
— Fw
g [a)
T W —
Q 5 s
oz S = <
= W o 8 u.n S
-Q= Q|8
20 o o] pm
o QZ Q>
i ®
mw
IHOMEH 1BNVYd 3000 XYW 908
, D SS— |
Z
(o) A ® 0
O .
W m =
“ X E NE
L] = oL = -3k
o A/ o m o w W = m .m,
9 9 o Rl alz
i 5 32 8 £ )
Z
= \w\ - =
S |
ac
O
=
O
mv IHOIEIH 1INV 3000 XYW .5§7°¢8
z
o =
2 6
| - -
- 2 o=
= < :
o O = Q|3
M o= ol Q nM =
5 Ny g8 sz
w = O L
=0 @< a|lc =
J——— ’ H =z 721 m =74
’ g | m = mu : M
3 h — Iz _ m Q8
v ) . olas
P, 28 o 5
z, —-— D — < =|¥
9 S LHOEH TINYd 300 XYW .ST'€8 SN

BMP'19-091§-X1\sBUIMEI - D\(Z515-251G X1) SSHIOPIS 195 1Id S| dWIUON D4 Paze|9 DD .8 18 .L 8.9 - XXX ¥a - 1AL\su Jo 1daQ sexa] - G\LNINVINYId N1 BULBY\SIUNDNZ



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' CC Glazed FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5160-61.dwg

112 —m|  j=—1/2" GLASS BITE
PVC INSERT
@@ —— 1" O.A. THK. GLASS
BACKBEDDING
COMPOUND 1/8" TEMPERED
L Glass
% 18 GA. X 1" BRAD NAIL ==\\_
(LOCATED 1-1/2" FROM ENDS
& 4" O.C. THEREAFTER] N 1 \ AR SPACE
i 1/8" TEMPERED
BACKBEDDING /8 GLASS
COMPOUND STEEL SPACER

71"\ HORIZONTAL CROSS SECTION

3/ C) GLAZING DETAIL
"insulated Glass

i 155"MAX.
FRAME WIDTH
13" MAX.
D.L.O WIDTH
/
Va
7/
I
5 0 \3/
W
e
= 5
< y INTERIOR
. O EXTERIOR INTERIOR
% 3
o o
[+s) N
[+ 9]
33
/
74
7

/"2"\ VERTICAL CROSS SECTION
@ DIRECT SET SIDELITE FRAME \3/

GLAZING STOP (7/16")

PVC INSERT

BACKBEDDING
COMPOUND

18 GA. X 1" BRAD NAIL

(LOCATED 1-1/2" FROM ENDS

1/8" TEMPERED
GLASS

& 4" O.C. THEREAFTER)

BACKBEDDING — |

COMPOUND

AR SPACE

1/8" TEMPERED

GLASS

1" O.A. THK. GLASS ——=|

STEEL SPACER
GLAZING STOP

172" GLASS
BITE

(7/16")

SIDELITE
ADAPTER

BACKBEDDING
COMPOUND

C:) GLAZING DETAIL
1" Insulated Glass

= 1/2" GLASS BITE

'\\:\7:\::;,1

E.OF 1
S .
123

CSNSEO '

o :"?.QON
Miadanes®

— 3/4" O.A. THK. GLASS

1/8" TEMPERED
L Glass

T~ AIR SPACE
Y 1/8" TEMPERED
GLASS
STEEL SPACER

GLAZING STOP (7/16')

C) GLAZING DETAIL
3/4" Insulated Glass

1/8" TEMPERED
GLASS

AR SPACE

1/8" TEMPERED
GLASS

¥/
4

3/4" O.A. THK. GLASS

STEEL SPACER

GLAIING STOP
(7116)

SIDELITE
ADAPTER

1/2" GLASS
BITE

.
N

BACKBEDDING
COMPOUND

GLAZING DETAIL
3/4" insulated Glass

ui
2y
-
L d
i
EZ a
£¥% 0
G ¥
287} [
.0
w a5
h""
cg b
[*] o v
UE (I ]
c T 0
2 5@
>m
owm
»
o
X
0
m
o
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA—TRU

FIBERGLASS DOOR
SIDELITE PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

oate: 1/06/21

scalE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5160

sHEET _ 3 oF 10

© 2021 RrR.w. BuiLoins ConsuLTANTS IND.



TONT SINVYLINSNGD aNIging "My L 202 @

SNOISIAIY
2681 L—4 # NOLVMISIONM {40 ALVOILMID c
SHIINIONT TVNOISSIA0Nd 40 Quvo8 SYX3L SNOLLYATTI Ad 4ivd {ON

L616°6G9°€L8 ON 8uoyd s
cooce o e on o \N\h@« KTGNASSY 40 19vd

"ONI ‘SINVLINSNOD ONIGTNG
400Jd SSY19¥3814
€ZTLYOL# "T'd Svxal NYL-YWYIHL

9

RW
LFS

N.T.S.
oF

4

TX-5160

oae: 1/06/21

CHK. BY:
DRAWING NO.:

SCALE
Dwe. BY:

SHEET

“J'd IPIWIYOS 4 uopukl :Ag petpdead sjusuinooQq 10Na0Hd

2phy

“» e, RPN WO 1
g LAINHOS 3 NGaN AT &

TN
IAREL LT TPV

gy 0
OF 5 N
- &v\..... mu*.n..n...
UNERY X

SIGNATURE SERIES (980)

SIGNATURE SERIES

F51

=
et
Y
wd
O
A
9
%

KNOB:
DEADBOLT: Bé&0
KNOB:
DEADBOLT:

SEE HARDWARE CHART

SCHLAGE
KWIKSET

ELEVATION
0)(0)

SEE HARDWARE CHART

Fiber-Classic/Smooth-Star Door Panel Options
Panel options shown are for illustration and are representative only
(similar glazed panel configurations are allowed)

ELEVATION
XO
#

Y
il R

BMP'L9-0915-X1\sBUIMEIQ - D\(£§15-251S X1) SOMIBPIS 39S 41 SI dWIUON DS PAZR|D DD .8 1 .. ‘8.9 - XXX ¥A - 1AL\su} o 3daq sexa - A\LNINVNYd NiL euLBY\SIUSDNZ



TON| SLNVLINSNDOD gNIainNg "My L 202 @

Z68LL—4 # NOLWVMISIONY 4O JLVOIHLMID SNOISIATH
SHIINIONT TYNOISSIH0Md 40 aMvod Svxal mzmﬁwgmommmwmmo AH 31vd [ON] - =ln] o O_
LBL6°6G9°CLE "ON suoyd : N ©o
G6eEE i DOHIDL 0EZ XO8 O \S&W "KTGNISSY ¥0 1dvd Q|5 it P
"ONI ‘SINVLINSNOD ONIding N . g | 5_
¥00d SSYT19434I4 “l B Ele &
cZLvoLf T'd SwiaL NHL~VAYIHL AEIFIM &
‘B'd IPIUUDS ‘4 UOPUAT g pesodesd sjustunsog HE 281815 m %
SRR &)
-
o
ol8
ﬁ W&
“ 9
[ 7]
m S
&2
Ll
1V
T < 8
o~ .M 3
O S~
= 2
= Q2
&= e md 17
5 &
5 —— = ~ - |0
. A A
5 =
Il : ()
_//. ] a
i ~ (2)
| (®
vl A
¢ 4
@/,‘. L
= S S
g 5
~ 5 z

/]

D}

A\Y
A\

1
/" 2"\ HORIZONTAL CROSS SECTION

000

9

2

EXTERIOR
INTERIOR

//

O ®

/"3 HORIZONTAL CROSS SECTION

w Shown w/ 2X Reinforcement

7
e

A\
A\

DS}

/"1 "\ HORIZONTAL CROSS SECTION

DRYWALL l é

EXT. SHEATHING 0.15" C-SINK
X ‘”’] 1P

BMp 19-0915-X1\sBumeIQ - I\(Z§1$-2515 XL) SMIPPIS 19S 41 S| dWIUON D4 PaZe|9 DD .8 78 .L ‘8,9 - XXX ¥d - 1QL\su] JO 3daq sexa] - S\ININVNYId NiL BUWIBYL\SIUBIDNZ



‘ON| SINVAINENDOT aNiaing "m'a 1202 O

SNOISIATZY
ZSBLL—d # NOLVMISIONM 40 ALVOLILLNIO -
SUIINIONT WNOISSIAOMd 40 AuVOE SVXIL mzo&%%mmwmomo Ad 41vd [ON Slalzlol o m_
0 L
L61B'6S9°CLE "ON suoud : Nl 9w
S65CC “14 OOWIBA OCZ xog .o.m\sggu ATENASSY M0 LHvd m = P R_u 0_
"ONI ‘SINVLINSNOD SNIdTing . = ©
¥00a SSY1943dl4 = |&|gg B
SZLYOL# *3d SYXAL NAL~VYWA3HL gl m gl w B
‘3'd “IPILYDS "4 UOpUA]  iAg pedodesy sjuswinoog 11oNAoYd AEAEEE %
4 %9
& . %
Gl B2LPOL
AR LT T S 7
5 LAINHDS Y NoGr S
“* - c.o:::%:o.“ —
%\ ¥ % s ih L il
N& Q.W\.‘ ‘. *h\ m H
LI T et G & s o =
3T et & g g
LSt ARt & O O
Sk T O =
v - ) .nHu
O 3 G
W b
(7]
< v
(]
2 2
T &)
3 =5 35
D [y m o
-l
£ ﬁ B
>\c
= 2 ®
< o D o
& 5 >
& re L
2 L] [
] “ Z
\ O
-
(&)
T M
)
e
o
/ el e @ &
\ g (e
- & *
=
b
=
5
oL
Ia
(28]
o
o
o 9 =z
O o O
T 0 =
gy @ 5
O (o) &
o )
i ¢
5 e ~ O
i -
O | AN O
m e JHH I = M _
2 s o5
% i m.}.\) G o P
e i - Els
& et ﬁ aers
[ 3
= 2 | B3 >1=
/ i~ mv
s 1 M ™|

INTERIOR

(0)aa)

EXTERIOR

v

/"1 "\ VERTICAL CROSS SECTION

8.
£ 2

8o

Lo

-

Y \\ ol
GS

£ 3

= x oG
< Q ~0 o8
=z g O T
5 i g
0 Z o) =
o - o3 &
®

@<

#* 0

m#
LD
Dz ~

IS

pd

BMpP'L9-0915-X1\sBuUIMeIq - D\LGLS-251S X1) SBMUIPPIS 195 Jid S dWIUON 94 Paze|D D3 .8 7 .L ‘8.9 - XXX Yd - 141\sul Jo 3daq sexa] - S\LNINVINYId ML BULBYL\SIUSID\Z



2SNy, u R
o R 3
L 23 £ o
N g i £5 8 8
AEGBE By ¢B &7
‘ Du sl Ho¥ a = n ~ & i
~( \ 502. g i b ;& 2 =
Pt T iz gg Eqd 2,
X HeH 2 2892 60
(3) #8x2-1/2" |94~ ini 5 HI8 pE
NS ~ 585 038
\(/ PFH WS QY i s a7 W
o~ O i e Zow &b
JAMB TO HEAD DETAIL N andoeS 5 8%, g8
// (TYP.) v 252 u°
/i e 5% %%
[+ . C
TOE-NAIL DETAIL @ HEAD § 392 gp
JAMBS/ TYPICAL @ EACH 2X REINFORCEMENT = 88
) MULLION JAMBS/ £ B
£ (TYP) 4" (TYP.) —— ) MULLION s €< 33
' m 4 (TYP.) —— ﬂ 4" (TYP.) —— g 3
4" (TYP.) —~] o
1 | 4 i~ ,, !
I PIfyf Y 1 P! R
— - '\\ - - - @ )
? ? S =
g 2R &
—_ — S 2
o o B |5 &
—_— — — = - — — — E 23 |8 <
o Y WO =1 1y
HEAD & JAMBS E§ § =
HEAD & JAMBS / (TYP) PN~
o
_ (P N 2X FRAMING _ _ . 2 %
(TYP) 2 &
a. 0.
BACK-TO-BACK | _ ] I _|ll| BACKTO-BACK . | &
2X REINF. - / r 2X REINF. < =
(TYP) X (TYP.) e
3= DOOR FRAME =J
woon(kK) = =9 (TYP - - woop - =S 3
ps
CONCRETE o CONCRETE | FRAvE 5
(TYP.) <
- SILL (TYP.) — — - - SILL (TYP.) —_ - E
| ] — —1 I L1 " \}\ ,
J k } s § 5110
% / % =1 300
WOOD WOOD @ AN
o CONCRETE CONCRETE o
(P ) FLOOR SUBSTRATE MATERIAL (TYP.) (P ) N ) =
' CONCRETE (MIN. 3000 PSI) ' P
WOOD (3.G. >=0.42) * S
XO/ OX OXO WOOD 0 = z
DATE: 1,/06/21
concrete (R) SWE_ N.T.S.
FR A M E A NC HO R ’NG TOE-NAIL DETAIL @ SILL DWG. BY: RW
TYPICAL @ EACH 2X REINFORCEMENT ok v LFS
DRAWING NO.:
TX-5160
sHEET _7 of 10

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Glazed FG Nonimp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5160-61.dwg

© 2021 R.W. BUILDING CONSULTANTS [NG.



TON| SBANVLINSNGG aNiating

‘M LZOZ O

ZSLL—d # NOUWVMISIOFN 40 IJLVOIHUMAD SNOISIAZN -
SHIANIONI TYNOISSZH0Nd 40 Qvod SVXaL SUVLIA INVMONVH A8 3ivd [ON ~lglzle] o m_
‘ecoelg i 2|y ©
segee n..ﬂmowmwo\m rwnwouomw c.n%m \S\&. ‘ATHNISSY HO Ldvd < W ~ 3 5 s
‘ONI “SINVIINSNOD ONIgHNg N S E 8_
4000 SSY19¥34l4 = |E|Ele X2
€ZLPOL# "T'd SwxaLl NAL~-YNHIHL i w slylE &
"3'd WPIUYOS 4 UOPUAT  iAg peipdeig sjuswnoog 11.oN3a0dd HEIEES w A
] .
e i oy Pt id o
.....m.\ Q\vv.vﬂr..conoow U\ :....Qm\w N NN m Av.hb
Z3s »0O1L * W. ® Z
g i S ] 2
7 Tamkos 3 NOONALZ 5 9
) cnonegeenssets? $ * - w e
RS S xg A
x-.<. >, ...../M.uz.rt S
-~aﬁw\\~-\:.:::noo¢-‘ (IW’U‘
Iy Jd 40 255 3
el
<
DA
(@ Fo “ o
%0 2
i1 -
[N
® T O
GAVT 40 J00Qa aRIgAH/ LN
dOLWO¥d STl L L ('dAL) .SL°62
gWVr 40 JO0a NO0Y
dOL WO ST 1L {dAL) ST'6Z «
B = B 2
T == . ~— 3
S E 2
£= =
[ER]
iR
~— (5L ) .88'%¥ N
, g
:W m m -m
( bod ) ] S %
| [£=2] w|o
i = ] W =
a5
8
[
- ol
08z
M mm o
Hp o
2 o
2
w <
b4
< m
Q
@ = W
s S
o <
® 3 = =
rr Q
Q = ~
/@ o le ” o ] O
23 28
A= alg =5 a
VT HE 88 g
wi Qf«» <
t Q| of W
o8
: 5 Q
& £ 3 3
: 5
[ et
3

6mp'L9-0915-X1\sBUMEIQ - D\(2G15-251S XL) SSHIaPIS 19S Jid SI dWIUON 94 Paze|D DD .8 1 .L ‘8.9 - XXX YA - 1aL\su} J0 3daq sexa - S\LNINVNYId NiL BULBYL\SIUSIDNZ



'ONL SINVATINENOT aNiauing Mo L1202 O

ZS8Ll—d # NOUVMLSIOIY 40 ILVOLILHID SNOISIAZY -
SYIINIONA WNOISSIA0¥d 40 Q¥vO8 SYXAL SUVLIA ONIZYVIO A8 d1vd [ON Slulzlo] o m_
g
L6L6°680°CL8 ON suoud : NS O
GBGES TI4 ODUIPA 0£Z X0€ "O°d \Su@ ATBNISSY HO Luvd % _M g °
‘ONI ‘SINVLINSNOO ONIQTing N . z | 9_
4000 SSY19434ld I EAEIERS
£ZLHOL#F “T'd SwXaL NAdL—YWAIHL gl m olxlZ B
‘T'd WPIUYDS ‘4 UOPUAT  :Ag peipdesd sjuswinoog 10naoNd AEITHEE %
%
AN
....@&
.
: e
WHOS 4 NOGNAT 4
Py~
o
A3 % M
hd LM W u2 —
S~ Q.
o 25 oE
{("dAL) ! —— n;t o Wn\
:N ‘ OO:@ \\#
I . " . L
S 2
- ¥
S F o
£ >
2 S
* 7
IHOBEH 'O T4 .£9 ——
1L
=
<
ol
[ S %%
Ll
=
o
=
)
Lh.
Q
=
[ %]
Ia)
prd
o0
O
Q.
3
O 3 2
pa O O 35
3 g 5 Z
& & w X =
2 B 4 & 33
O = < = < .A\nu
< g K 5 & B
- ©» T i
. - x o ZA
0 O = < = =
r] U
= “ W ]
|l — [ %4 C
o = o<
* = 0&
//
I/ |

GLAZING DETAIL
SMC LIP LITE FRAME

1/2" GLASS BITE —»|

EXTERIOR

#8 X 1-1/2" SMS

INTERIOR

BMp’L9-091.5-X1\sBumelq - D\Z515-25LS X1) SMISPIS 1S 41Q SI dWIUON D4 PaZe|D DD ,8 78 .L ‘8.9 ~ XXX ¥Q - 1AL\su] 40 1daQ sexa] - \ININVINYId NiL BULBY\SIUSNONZ



—

411
BILL OF MATERIALS : o8 .
TEM # | DESCRIPTION MATERIAL o 456 o b ST
B | 2XBUCK (G >=0.42) WOOD " S : S ¢B &%
C | 1/4"MAX. SHIM SPACE i Ly —=—1t fu Ly E
D | 1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL T T T §3 L2 37
F_ | #10X2' PFH WOOD SCREW STEEL ——— 94 50 Lg8 pe
L #10 X 2-1/2' PFH WOOD SCREW {1.15" MIN. EMBEDMENT) STEEL i% Zo E §5
Q #10 X 3" PFH WOOD SCREW (1.75" MIN. EMBEDMENT) STEEL L—ﬁ 2.36" ———-' oo™ & GRS p Eg
R 3/16" X 3-1/4" ITW CONCRETE SCREW STEEL H] 2 é Z 8,
X | 2X REINFORCEMENT (3G = 0.55) WOOD @-‘”M & 2 365 g
1 | WOOD JAMB [FINGER JOINT PINE ] WOOD = 456" -] e REE 83
2 | COMPOSITE JAMB COMP . £ = 9k
7 WEATHERSTRIP FOAM £ g A 8
8 | DOOR SWEEP VINYL 3
10 #10 X 1-1/2" PFH WOOD SCREW STEEL
11 #12 X 1-1/2" PFH WOOD SCREW STEEL . 212
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL @ COMPOSITE JAMB x| 9,
24 #9 X 1" PFH WOOD SCREW STEEL QD:§ QSCL%
25 | #8X 1-1/2"PFH WOOD SCREW STEEL T | B3
26 #8 X 5/8" PFH WOOD SCREW STEEL %%’ g =5
27 LATCH STRIKE PLATE STEEL Lfé‘;" ﬁ 538
28 DEADBOLT STRIKE PLATE STEEL 583" - . Fg’i’i 2 %
28A | DEADBOLT SUB STRIKE PLATE STEEL g S o
29 4" X 4" HINGE STEEL 8 =
32 INSWING THRESHOLD ALUM/COMP & P
33 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP N
40 DOOR PANEL {BOOK] - m
4] DOOR PANEL (HYBRID) -
42 DOOR PANEL (U1) -
32 IN.?WING THRESHQLD .
Adjustable Composite Sill
n
=z
208" —] | 2
|
SIDELITE .
CONCRETE ANCHOR NOTES: % " ADAPTER <
. Concrete anchor locations at the comers may be adjusted to maintain the min. ™~
edge distance fo morfc_:tr joinfs. )
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to - - = @
maintain the min. edge distance to mortar joints, additional concrete anchors o e =L v Wi
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. !::
. Concrete anchor table: [ =)
T ; 583" -— .
o)
............... i 33 INSWING THRESHOLD w/ SIDELITE ADAPTER =
mw " " . o Composite Sill pATE: 1,/06/21
1apcon® | 14 1-3/4 ? 4 scaE  N.T.S.
eyt IR TY 1-3/4" " & v o RW
TAggON® sne 1-1/4 ¥ -7 g::w:z; NO.: <&
WOOD SCREW INSTALLATION NOTES: TX—5160
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood. sieer 10 oF 10

Z:A\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' CC Glazed FG Nonimp IS Dir Set Sidelites (TX 5152-5157\C - Drawings\TX-5160-61.dwg

© 2021 R.W. BUILDING CONSULTANTS ING,



